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15t Find all the factors of the

Example
f(x) = 2x3 + 3x% - 8x + f

How do I find the zeros for a polynomial function?

l Your Turn I
f(x) = 2x* - 2x3 + 2x? - 6x —f
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constant and of the leading
\Ef.fficienf.

/2'; Form all rational numbers by

making fractions with the 5 2\ hg
numerator a factor of the = 1 1)
constant and the denominator a
@Tor of the leading coefficient.

1]23-8 3
3rd Using synthetic B2 5 =3
substitution, find one 25 -3|o @

solution to the problem.

4th Rewrite the function (X" \) (2 X < +oOX- 5)
Lc:s two factors. i\l'*z :I;b !
ll b l i
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5th Repeat this process -3 I 2 57 2

as needed to get all your b 2
(_factors of the polynomial. 27 [____6

6t Set each factor
equal to zero and solve
the resulting equations.
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